1.3 Angle Pairs.notebook September 07, 2018

DO NOW

BD bisects /ABC. If mzABD = 32, what is the
mABC?
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HW Answers
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LXYZ, L ZYX, LY
x=18
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y=23

g=29
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Complementary

Two or more angles are C@mpﬂﬁm@ntﬂfﬁ

if the sum of their measures is QD

Exemple {: Find mz£ABC and m« CBD.

[ X-2+5x-4=90
nley-2
{11.-: 2)° —l
i

X=

Sep 5-12:55 PM

Supplementary

Two or more angles are Suppﬂﬁmﬂntﬁfﬁ
if the sum of their measuresis [¥D° .

Exsmple 2: Find mz£ABC and ms CBD.
BX+4%4 byt 7= 18D

|4+ 2= 180

TN+ 4 A0 ! |4y = 154

il EL x=l

Sep 5-12:56 PM
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Adjacent

Adjacent Angles are two angles that share a
common_ Verde X  and_side  , but

have no common intetior points.

Sep 5-12:58 PM

Linear Pair

Two adjacent angles are a Linegr Pair if their

noncommon sides are oppaosite rays.

K They are Supplementary K

Sep 5-12:59 PM
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Vertical

Two angles are Vertical Angles if their sides form

(V\ O Common

two pairs of opposite rays. si aLQ

<
4 and 24 X Vexvecal £ s

% ~
<\ and 23 oq are L A
B

Sep 5-12:59 PM

Exsmple 3: Use the diagram fo determine whether
the angles are adjacent, verfical, a linear pair, or
none of the above.

A
L4

W

a)zland 22 adjacent

o) z4and .5 Ihear pair

. iV
c) .7 and 9 N4V E

d) 26 and 29 Vertica)

e) 22and 6 NonL

Sep 5-12:59 PM
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In the accompanying diagram, AB and CD intersect at £ . If
m AEC=4x—-40andm BED =x+ 50, find the number of
@grees in  AEC.

et heal AV\5\¢$
|

~
ave ‘_’-’

4v-40= ¥+ 50
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